NPA Homework solutions 4
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5) Hydrogen is the most abundant element in the universe as it is the simplest
element with a nucleus of just 1 proton. The most common isotope of oxygen has
8 protons and 8 neutrons. This means that '°0 is doubly magic, i.e. both N and
Z are magic numbers making this nucleus particularly stable. In other words
neutrons and protons have filled complete nuclear shells. Given that plentiful
supply of H and the stability of '®O indicates that H-O is an abundant substance.



